Notice for appointment of Regular / Rural Retail Outlet Dealerships

Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in **Chhattisgarh State** as per following details:

Process of the Company of the Comp					Estimate									Fixed Fee	
Notice Column C		Name of location	Revenue District	Type of RO	monthly Sales Potential	Category	of				arrang	ed by	Mode of Selection	/ Minimum Bid	Security Deposit
Note	1	2	3	4	5	6	7		8		9a	9b	10	11	12
1. ACTIONAMES CALLUNGA, ON LAULUNGA (MACAREH REQUISE 100 ST CFS 30 SD 00 OD 0 O O O O O O O O O O O O O O O				_	MS+HSD	SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1	DC/	Frontage	Depth	Area	ed workin g capital require ment for operati on of	ated fund requir ed for devel opme nt of infras tructu re at			
2. SCHOOL SURVEYER MAY DO NOT A ROAD ALLINGA, ON A LASPAUR REQUIRE 100 ST CFS 30 S0 90 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1	,KOTRIMAL TOWARDS LAILUNGA , ON LAILUNGA GHARGHODA ROAD	RAIGARH	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
BOUNDAY PATTH ROAD, WITHIN AMBISAPUR SURGUIA Regular 100 ST C75 20 20 400 0 0 0 0 0 0 0 0	2	SCHOOL SURANGPANI TOWARDS LAILUNGA, ON LAILUNGA KOTBA ROAD	JASHPUR	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
SOMEROHAMPUR AND ST. TRESSA CONVENT. AAIGARH Regular 130 ST CFS 20 20 400 0 0 0 Draw of lots 0	3	GAURAV PATH ROAD, WITHIN AMBIKAPUR MUNICIPAL LIMIT.	SURGUJA	Regular	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3
Set Vinite Name Vinite N	4	GOWERDHANPUR AND ST. TERESA CONVENT	RAIGARH	Regular	130	ST	CFS	20	20	400	0	0	Draw of lots	0	3
Fig. Paper Republic Content Paper Pape			RAIGARH	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
MAIN ROAD OURS Negular 100 St. CFS 35 35 1225 0 0 Draw of lots 0	6	RAIPUR SARAIPALI NH , LHS, WHILE MOVING FROM SARAIPALI TO RAIPUR	MAHASAMUND	Regular	150	ST	CFS	35	45	1575	0	0	Draw of lots	0	3
STOWARDS SUMMA SUMMA Regular 150 SC CFS 35 35 1225 0 0 Draw of lots 0	I/ I	·	DURG	Regular	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
10	8 I		SUKMA	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
10 DURG (OM MAIN ROAD)	9	BETWEEN KM STONE 118 AND 122 ON NH 63	BIJAPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
11 ROAD	110 I	•	DURG	Regular	150	ST	CFS	20	20	400	0	0	Draw of lots	0	3
DAMATRAI (ON NH30	I11 I		KANKER	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
13 SETWEEN FAFADIH CHOWK AND BHANPURI RAIPUR Regular 150 ST CFS 20 20 400 0 0 Draw of lots 0	I12 I		KANKER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
14 BETWEEN KM STONE NO.23 AND KM STONE NO.29 RAIPUR Regular 150 ST CFS 35 35 1225 0 0 Draw of lots 0	13	BETWEEN FAFADIH CHOWK AND BHANPURI	RAIPUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of lots	0	3
15 BUT NOT ON NH SH	14	BETWEEN KM STONE NO.23 AND KM STONE NO.29	RAIPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
16 NITHIN 3KM FROM NIT RAIPUR ON EITHER GE RAIPUR Regular 150 SC CFS 20 20 400 0 0 0 0 0 0 0 0	115		SUKMA	Regular	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3
17 WITHIN 2 KM FROM KUMHARPARA CHOWK BASTAR Regular 100 ST CFS 20 20 400 0 0 Draw of lots 0	16	WITHIN 3KM FROM NIT RAIPUR ON EITHER GE	RAIPUR	Regular	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
TOWARDS JAGALPUR CITY 18 WITHIN 4 KM FORM NELASNAR CHOWK WHILE GOING TOWARDS GEEDAM ON NH 63 19 WITHIN 3 KM FROM INDRAWATI RIVER BRIDGE TOWARDS BHOPALPATTNAM ON NH63 BIJAPUR Regular 150 ST CFS 35 35 1225 0 0 Draw of lots 0 Draw of	17	WITHIN 2 KM FROM KUMHARPARA CHOWK	BASTAR	Regular	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3
19 WITHIN 3 KM FROM INDRAWATI RIVER BRIDGE TOWARDS BHOPALPATTNAM ON NH63 BIJAPUR Regular Regular 150 ST CFS 35 35 1225 0 0 Draw of lots 0 Draw of	18	WITHIN 4 KM FORM NELASNAR CHOWK WHILE	BIJAPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
WITHIN 3KM FROM ABHANPUR T JUNCTION TOWARDS GARIYABAND ON NH130C RAIPUR Regular 150 SC CFS 35 35 1225 0 0 Draw of lots 0	19	WITHIN 3 KM FROM INDRAWATI RIVER BRIDGE			150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
TOWARDS GARIYABAND ON NH130C RAIPUR Regular 150 SC CFS 35 35 1225 0 0 Draw of lots 0	20	WITHIN USUR PANCHAYAT LIMIT NOT ON NH SH	BIJAPUR	Regular	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3
WITHIN 2 KM FROM DORNAPAL CHOWK TOWARDS JAGARGUNDA ROAD SUKMA Regular 100 ST CFS 30 30 900 0 Draw of lots 0 WITHIN 2 KM FROM BODHGHAT POLICE STATION ON KUMHARPARA CHOWK TO BUS STAND ROAD BASTAR Regular 100 ST CFS 20 20 400 0 Draw of lots	121 I		RAIPUR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
VILLAGE PANDADAH ON KHAIRAGARH LANJI ROAD ON SH22 WITHIN 2 KM FROM BODHGHAT POLICE STATION ON KUMHARPARA CHOWK TO BUS STAND ROAD BASTAR Regular 100 SC CFS 30 30 900 0 Draw of lots 0 Draw of lots 0 WITHIN 2 KM ON EITHER SIDE OF VILLAGE BORAI ON NH130CD WITHIN 3 KM FROM JUNCTION OF SH5 AND NARAYANPUR Regular 150 SC CFS 35 35 1225 0 0 Draw of lots	22	WITHIN 2 KM FROM DORNAPAL CHOWK TOWARDS	SUKMA	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
ON KUMHARPARA CHOWK TO BUS STAND ROAD BASTAR Regular 100 ST CFS 20 20 400 0 Draw of lots 0 Draw of lots 0 WITHIN 2 KM ON EITHER SIDE OF VILLAGE BORAI ON NH130CD DHAMTARI Regular 150 SC CFS 35 1225 0 Draw of lots	23	VILLAGE PANDADAH ON KHAIRAGARH LANJI ROAD	· ·	Regular	100	sc	CFS	30	30	900	0	0	Draw of lots	0	3
25 ON NH130CD DHAMTARI Regular 150 ST CFS 35 35 1225 0 0 Draw of lots 0 WITHIN 3 KM FROM JUNCTION OF SH5 AND NARAYANPUR Regular 150 SC CFS 35 35 1225 0 0 Draw of lots 0	24		BASTAR	Regular	100	ST	CFS	20	20	400	0	0	Draw of lots	0	3
126 I INARAYANPIJR IRegular 1150 ISC ICES 135 135 11225 IO IO IDraw of lots IO I	125 1		DHAMTARI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
	26	NH130D TOWARDS NARAYANPUR ON NH130D	NARAYANPUR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
27 WITHIN 1.5 KM FROM LAALBAGH CHOWK TOWARDS JAGDALPUR CITY BASTAR Regular 100 SC CFS 20 400 0 Draw of lots 0	127 I		BASTAR	Regular	100	sc	CFS	20	20	400	0	0	Draw of lots	0	3

28 S	VITHIN 1 KM FROM PRIMARY HEALTH CENTRE AMBALPURI TOWARDS RAIGARH, ON RAIGARH HAMIRPUR ROAD	RAIGARH	Rural	100	ST	CFS	30	30	900	0	0	Draw of lots	0	2
29 N	VITHIN 1 KM FROM SHIVSHAKTI STEEL PLANT	RAIGARH	Rural	130	ST	CFS	30	30	900	0	0	Draw of lots	0	2
30 W	VITHIN 2KM FROM JHANSI CHOWK JUNCTION WHILE MOVING TOWARDS MATIA ON CHARACHAR MATIA ROAD TEHSIL GUNDERDEHI	BALOD	Rural	80	SC	CFS	30	30	900	0	0	Draw of lots	0	2
31 C	SETWEEN ATAL CHOWK AND ITI MARDAPAL ON CHITRAKOOT ROAD, TEHSIL-MARDAPAL, CONDAGAON	KONDAGAON	Rural	70	SC	CFS	30	30	900	0	0	Draw of lots	0	2
32	VITHIN 2 KM OF KATEKALYAN ON KATEKALYAN ELAM MAIN ROAD.	DANTEWADA	Rural	50	ST	CFS	30	30	900	0	0	Draw of lots	0	2
133 I	BETWEEN BHAINSA BHANDARPURI T POINT AND BHANDARPURI AMSENA T POINT	RAIPUR	Rural	80	ST	CFS	30	30	900	0	0	Draw of lots	0	2
134 I	BETWEEN KUSHABHAU THAKRE CHOWK AND DATRENGA T POINT ON DATERENGA ROAD	RAIPUR	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
35 W	VITHIN 2 KM FROM INTERSECTION OF NH 30 VHILE GOING TOWARDS VILLAGE CHAPKA ON MAIN ROAD ON RHS	BASTAR	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
136 I	VITHIN 2 KM FROM GOVT. PRIMARY SCHOOL HINGOL TOWARDS TAMNAR	RAIGARH	Rural	150	ST	CFS	30	30	900	0	0	Draw of lots	0	2
37 N	VITHIN 6KM FROM HPCL OLD DEPOT ON ADWAL	BASTAR	Rural	100	ST	CFS	30	30	900	0	0	Draw of lots	0	2
38 S	NITHIN 2KM FROM MAA CHANDI MANDIR BAMHANI WHILE MOVING TOWARDS	RAJNANDGAON	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
139	VITHIN 1KM OF VILLAGE BHAIYATHAN ON BHAIYATHAN SURAJPUR ROAD	SURAJPUR	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
40 W	VITHIN 1KM OF VILLAGE JAIGA ON AMBIKAPUR	SURGUJA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
41 W	VITHIN BEMETARA MUNICIPAL LIMITS (ON MAIN	BEMETARA	Regular	120	ST	CFS	20	20	400	0	0	Draw of lots	0	3
42 A	N BETWEEN CITY PRIMARY HEALTH CARE CENTER AND POWER HOUSE CHOWK ON HEMU NAGAR ROAD, BILASPUR	BILASPUR	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
143	WITHIN 2KM OF SITAPUR POLICE STATION, WITHIN SITAPUR MUNICIPAL LIMIT,ON ANY MAJOR ROAD	SURGUJA	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
144	VITHIN 1 KM FROM JAIL CHOWK KHOKHRA, ON RAIGARH BILASPUR NH	JANJGIR CHAMPA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
145 I	SETWEEN KM STONE 7 AND KM STONE 9 ON BILASPUR TAKHATPUR NH	BILASPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
46 E	VITHIN 1KM OF SWAMI ATMANAND GOVT :NGLISH MEDIUM SCHOOL BILASPUR TOWARDS MAA SHAKTI MANDIR	BILASPUR	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
47 T	СНАМРА NH	RAIGARH	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
148	NITHIN 1 KM FROM KOLKATA DHABA DHANAGAR , DN JHARSUGUDA CHAMPA NH	RAIGARH	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
49 C D	DYKE	KORBA	Regular	150	Open	DC	30	30	900	32	55	Draw of lots	15	5
150		BALODABAZAR- BHATAPARA	Regular	100	sc	CFS	30	30	900	0	0	Draw of lots	0	3
151 I	VITHIN 4 KM FROM VILLAGE FARASWANI ,TESHIL KARTALA TOWARDS URGA ON NH	KORBA	Regular	150	ОВС	DC	35	45	1575	32	95	Draw of lots	15	4
152 I	VITHIN 3 KM FROM PASAN POLICE STATION OWARDS KATGHORA ON SH4	KORBA	Regular	100	Open CC 1	DC	30	30	900	32	75	Draw of lots	15	5
153	SETWEEN INDIAN OVERSEAS BANK AND PATIDAR SHAWAN ON FAFADIH ROAD	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
154	VITHIN 4 KM FROM VILLAGE BODTARA KALAN ESHIL LORMI TOWARDS PANDARIYA ON SH	MUNGELI	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
155	SETWEEN KM STONE 2 AND KM STONE 4 ON SH , AMBIKAPUR BANARAS ROAD	SURGUJA	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
156	•	BALODABAZAR- BHATAPARA	Regular	150	Open	DC	35	45	1575	32	95	Draw of lots	15	5
157 I	VITHIN 3KM OF LIMHA TOLL PLAZA ON NH OWARDS BILASPUR	BILASPUR	Regular	150	Open	DC	35	45	1575	32	95	Draw of lots	15	5
158 I	VITHIN 4 KM FROM DEVNANDAN NAGAR PHASE 2 ON BAIMA NAGOI ROAD TOWARDS KHAMTARAI	BILASPUR	Regular	100	SC	CFS	30	30	900	0	0	Draw of lots	0	3
59 T	BASDEI,ON SURAJPUR BHAIYATHAN ROAD	SURAJPUR	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
60 K	(UKHRICHOLI ON NH	KORBA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
161	VITHIN NAGAR PANCHYAT BERLA LIMITS (ON MAIN ROAD)	BEMETARA	Regular	100	Open CC 2	DC	20	20	400	32	55	Draw of lots	15	5
62 T	OWARDS BHATGAON ON BILASPUR BYPASS ROAD	BILASPUR	Regular	150	OBC CC 1	DC	35	45	1575	32	95	Draw of lots	15	4
163	VITHIN 3KM OF VILLAGE SAMBALPUR,TOWARDS DHAMTARI ON NH 30	DHAMTARI	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
164 I	VITHIN 1KM OF KARYALAYA GRAM PANCHAYAT DEVGARH ON SH. TEHSIL BHARATPUR	MANENDRAGARH CHIRMIRI BHARATPUR	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
165	OWARDS RAIPUR	BILASPUR	Regular	150	Open	DC	35	45	1575	32	95	Draw of lots	15	5
	VITHIN 3 KM FROM BANKI CHOWK IN BANKI													

		1					1	,					1	
67	WITHIN 2KM OF VILLAGE SALKA TEHSIL BAIKUNTHPUR ON BAIKUNTHPUR KHADGAWAN ROAD	KOREA	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
68	FROM POLICE LINE CHOWK TO PACHPEDI NAKA CHOWK	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
69	WITHIN 2KM OF NAGAR PANCHAYAT BHAWAN PREMNAGAR, ON PREMNAGAR RAMANUJGANJ ROAD	BHARATPUR	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
70	BETWEEN KM STONE NUMBER 235 AND 237 ON NH 43	MANENDRAGARH CHIRMIRI BHARATPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
71	WITHIN 2 KM FROM DIPKA CHOWK TOWARDS KOLIHAMUDA ON DIPKA - KATGHORA ROAD	KORBA	Regular	100	Open	DC	30	30	900	32	55	Draw of lots	15	5
72	WITHIN 2 KM OF GOVERNMENT ITI COLLEGE KHADGAWAN, ON SH	KOREA	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
73	WITHIN 1KM OF MAHARANA PRATAP CHOWK, AMBIKAPUR, WITHIN MUNICIPAL LIMIT	SURGUJA	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
74	WITHIN 5 KM FROM JMP GOVT. HIGHER SECONDARY SCHOOL AT TAKHATPUR TOWARDS BILASPUR ON NH	BILASPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
75	WITHIN 2KM FROM CSEB CHOWK TOWARDS MAHAVIR NAGAR WITHIN MUNCIPALITY LIMIT KORBA	KORBA	Regular	150	Open CC 1	DC	18	18	324	32	55	Draw of lots	15	5
76	WITHIN 1 KM OF VILLAGE MADANPUR, ON AMBIKAPUR BISHRAMPUR NH	SURAJPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
77	WITHIN 2 KM FROM BAZAR CHOWK BANDHAPALI TOWARDS SARANGARH , ON SARANGARH BARAMKELA SH	SARANGARH BILAIGARH	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
78	WITHIN 2 KM FROM PRIMARY HEALTH CENTRE TILAI TOWRADS RAIGARH,ON RAIGARH BILASPUR NH	JANJGIR CHAMPA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
79	WITHIN 2 KM FROM BDM CHOWK SARAGAON TOWARDS CHAMPA ON RAIGARH CHAMPA NH	JANJGIR CHAMPA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
80	WITHIN 2 KM FROM SUBHASH CHOWK BARAMKELA TOWARDS SARANGARH ON BARAMKELA SARANGARH SH	SARANGARH BILAIGARH	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
81	WITHIN 2KM FROM GAURELA NEW BUS STAND TOWARD LALPUR ON ANY MAJOR ROAD	GAURELA PENDRA MARWAHI	Regular	110	ST	CFS	30	30	900	0	0	Draw of lots	0	3
82	WITHIN 1 KM OF SMRITI CHOWK ON SURAJPUR BHAIYATHAN ROAD	SURAJPUR	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
83	WITHIN 2KM FROM SETH KIRODIMAL CHOWK, RAIGARH TOWARDS JINDAL STEEL AND POWER MAINGATE ON JINDAL ROAD	RAIGARH	Regular	150	Open	DC	30	30	900	32	95	Draw of lots	15	5
84	WITHIN 2 KM FROM DEVTA MANDIR NAYAGAON TOWARDS SARAIPALI, ON SARAIPALI PADAMPUR ROAD	MAHASAMUND	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
85	TOWARDS MARWAHI TEHSHIL OFFICE ON SH	GAURELA PENDRA MARWAHI	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
86	BETWEEN DINDAYAL APARTMENT AND DELHI WORLD PUBLIC SCHOOL BADE RAMPUR ,ON URDANA BOIRDADAR ROAD	RAIGARH	Regular	120	Open	DC	30	30	900	32	55	Draw of lots	15	5
	WITHIN 1 KM FROM GHADI CHOWK RAIGARH, ON ANY MOTORABLE ROAD, WITHIN RAIGARH MUNICIPAL LIMIT	RAIGARH	Regular	130	Open	DC	18	18	324	32	55	Draw of lots	15	5
88	WITHIN 5 KM FROM BHATGAON NEW BUS STAND ON NH	SARANGARH BILAIGARH	Regular	150	ОВС РН	DC	35	35	1225	32	95	Draw of lots	15	4
89	WITHIN 2 KMS FROM SECTOR 30 , ATAL CHOWK TOWARDS IIM RAIPUR	RAIPUR	Regular	150	ST PH	CFS	20	20	400	0	0	Draw of lots	0	3
90	BETWEEN KIRODIMAL GOVT. HOSPITAL RAIGARH AND KELO RIVER BRIDGE, WITHIN RAIGARH MUNICIPAL LIMIT	RAIGARH	Regular	150	Open	DC	20	20	400	32	55	Draw of lots	15	5
91	WITHIN 2KM OF SHANKARGHAT MANDIR, AMBIKAPUR ON NH	SURGUJA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
92	WITHIN 2 KM OF DISTRICT COLLECTORATE OFFICE MANENDRAGARH,ON NH43	SURAJPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
93	ROAD	RAIGARH	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
94	WITHIN 2 KMS FROM INDIAN OIL TERMINAL KORBA TOWARDS JAMNIPALI ON NH	KORBA	Regular	150	sc	CFS	35	45	1575	0	0	Draw of lots	0	3
95	WITHIN 2KM OF VILLAGE PAKNI ON BHAIYATHAN- PRATAPPUR ROAD	SURAJPUR	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
96	WITHIN 2 KM FROM SONTHI BUS STOP TOWARDS CHAMPA, ON CHAMPA BIRRA ROAD	JANJGIR CHAMPA	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
97	BETWEEN DEGREE COLLEGE RAIGARH AND METRO HOSPITAL & DIABETIC RESEARCH CENTRE RAIGARH, WITHIN RAIGARH MUNICIPAL LIMIT	RAIGARH	Regular	120	Open	DC	20	20	400	32	55	Draw of lots	15	5
98	WITHIN 1 KM FROM VILLAGE SIRPUR, ON SARAIPALI PADAMPUR ROAD, TEHSIL SARAIPALI	MAHASAMUND	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
99	MAJOR ROAD NOT IN NH	BILASPUR	Regular	100	ОВС	DC	30	30	900	32	55	Draw of lots	15	4
	RAJNANDGAON ON NH53	RAJNANDGAON	Regular	150	Open	СС	40	40	1600	32	12	Bidding	30	5
101	WITHIN 3 KM FROM ADDITIONAL TEHSILDAR GANIYARI OFFICE ,BILASPUR ON SH	BILASPUR	Regular	100	Open CC 1	DC	30	30	900	32	75	Draw of lots	15	5
102	WITHIN 1KM OF GOVERNMENT PRIMARY SCHOOL NARAYAN BAHALI ON NH 43	JASHPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
103	WITHIN 5 KM FROM SUB POST OFFICE LORMI TOWARDS MUNGELI ON LORMI MUNGELI ROAD	MUNGELI	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
		·										· 		

104	WITHIN 5 KM FROM JAISTAMBH CHOWK GHARGHODA TOWARDS RAIGARH ON RAIGARH GHARGHODA ROAD	RAIGARH	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
105	WITHIN 2KM OF AGRASEN CHOWK, LAKHANPUR, WITHIN LAKHANPUR MUNICIPAL LIMIT	SURGUJA	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
1106 I	WITHIN 1KM OF PRIMARY HEALTH CENTER, KERSAI ON KUNKURI TAPKARA MARG	JASHPUR	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
107	WITHIN 1 KM FROM NAKTA TALAAB CHOWK	SAKTI	Regular	140	sc	CFS	30	30	900	0	0	Draw of lots	0	3
108	WITHIN 500 MTR FROM JAIJAIPUR CHOWK BARADWAR TOWARDS HASAUD, ON BARADWAR HASAUD ROAD, WITHIN BARADWAR NAGAR PANCHAYAT LIMIT	SAKTI	Regular	150	Open	DC	20	20	400	32	55	Draw of lots	15	5
1109 I	WITHIN 1KM FROM SHRI SHYAM RICE MILL SAKRELI BHANTA ON RAIGARH CHAMPA NH	SAKTI	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
110	BETWEEN KM STONE 166 AND KM STONE 164, ON	SARANGARH BILAIGARH	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
111	ON SH 23, WITHIN 2 KM FROM INTERSECTION OF	BALOD	Regular	100	OBC CC 1	DC	30	30	900	32	75	Draw of lots	15	4
112	BETWEEN SANTOSHI NAGAR CHOWK TO DR LAXMINARAN DIXIT CHOWK ON OLD DHAMTARI ROAD WML	RAIPUR	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of lots	0	3
113	WITHIN 2 KM FROM NH 153 JUNCTION (WITH SH18) TOWARDS DABHRA ON CHANDRAPUR DABHRA SH	SAKTI	Regular	100	Open PH	DC	30	30	900	32	75	Draw of lots	15	5
1114	WITHIN 1 KM FROM MAHAMAYA CHOWK RATANPUR TOWARDS KORBA	BILASPUR	Regular	100	ОВС	DC	20	20	400	32	55	Draw of lots	15	4
115	WITHIN 1 KM FROM MIRONI CHOWK, ON DABHRA CHANDRAPUR ROAD	SAKTI	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
116	WITHIN 15 KM FROM COLLEGE OF AGRICULTURE AND RESEARCH STATION LAKHANPUR TOWARDS PALI ON NH	KORBA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of lots	0	3
117	WITHIN 4 KM FROM JBD COLLEGE KATGHORA TOWARDS AMBIKAPUR ON NH	KORBA	Regular	150	Open	DC	35	45	1575	32	95	Draw of lots	15	5
1118 I	WITHIN 1 KM FROM PURANA BUS STAND CHOWK	BILASPUR	Regular	130	ОВС	DC	18	18	324	32	55	Draw of lots	15	4
119	BETWEEN MAHARAJA CHOWK, JASHPUR NAGAR AND HOTEL NIRVANA, WITHIN JASHPUR MUNICIPAL LIMIT	JASHPUR	Regular	100	Open	DC	18	18	324	32	55	Draw of lots	15	5
120	SARAIPALI NH	RAIGARH	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
121	WITHIN 10 KM FROM PALI TOWARDS KHATGHORA ON NH	KORBA	Regular	150	ST	CFS	35	45	1575	0	0	Draw of lots	0	3
1122 I	WITHIN 4KM FROM VILLAGE CHILPHI TEHSIL LORMI ON SH TOWARDS LORMI	MUNGELI	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
123	WITHIN 6KM FROM VILLAGE DASHRANGPUR ON LEFT HAND SIDE OF NH30 WHILE MOVING TOWARDS KABIRDHAM	KABIRDHAM	Regular	150	Open	сс	40	40	1600	32	12	Bidding	30	5
1124 I	BETWEEN KOBIA CHOWK AND CIRCUIT HOUSE, BEMETARA (ON BERLA ROAD)	BEMETARA	Regular	120	Open CC 1	сс	20	20	400	32	12	BIDDING	30	5
125	WITHIN 2KM FROM MOPKA CHOWK BILASPUR WITHIN MUNCIPALITY LIMIT ON ANY MAJOR ROAD NOT ON NH	BILASPUR	Regular	100	sc	CFS	30	30	900	0	0	Draw of lots	0	3
126	WITHIN 2 KM FROM SUBHASH CHOWK BALODABAZAR WITHIN BALODA BAZAR MUNICIPAL LIMIT ON ANY MAJOR ROAD NOT ON NH	BALODABAZAR- BHATAPARA	Regular	100	ОВС	DC	30	30	900	32	55	Draw of lots	15	4
127	BETWEEN CHAKRADHAR NAGAR CHOWK AND EDEN GARDEN MARRIAGE LAWN , WITHIN RAIGARH MUNICIPAL LIMIT	RAIGARH	Regular	150	Open	DC	18	18	324	32	55	Draw of lots	15	5
128	IN BETWEEN KANYASALA HIGHER SECONDARY	BILASPUR	Regular	100	Open	DC	30	30	900	32	55	Draw of lots	15	5
129	KOMAKHAN GARIYABANDH ROAD	MAHASAMUND	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
1130 I	WITHIN 5KM FROM BHANUPRATAPPUR CHOWK TOWARDS KACCHE ON SH5	KANKER	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
1 1	WITHIN 1 KM FROM MANKAAMESHWAR SHIV MANDIR PANDRIPANI TOWARDS RAIGARH, ON RAIGARH JAAMGAON ROAD	RAIGARH	Regular	150	Open	DC	30	30	900	32	55	Draw of lots	15	5
1132 I	WITHIN 5KM OF PARAGHAT TOLL PLAZA ON NH TOWARDS BILASPUR	BILASPUR	Regular	150	Open	DC	35	45	1575	32	95	Draw of lots	15	5
133	WITHIN 2KM FROM JUNCTION OF RAJNANDGAON BYPASS ROAD AND KANHARPURI JANGLESAR ROAD TOWARDS KANHARPURI WITHIN MUNICIPAL LIMIT	RAJNANDGAON	Regular	130	ОВС	DC	25	25	625	32	55	Draw of lots	15	4
1134 I	WITHIN 1KM OF VILLAGE CHARAIDAND TEHSIL KUNKURI, ON SH	JASHPUR	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
1135 I	WITHIN 500M OF BHATAPARA BUS STAND CHOWK ON NARAYANPUR ROAD	BALODABAZAR- BHATAPARA	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
136	WITHIN 500MTS FROM GHASIDAS CHOWK BALODA	JANJGIR CHAMPA	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
137	WITHIN 2 KM FROM GOVT MIDDLE SCHOOL PARRAS WHILE MOVING TOWARDS PADKIBHAT ON PARRAS TO PADKIBHAT ROAD WITHIN MUNCIPAL LIMIT BALOD	BALOD	Regular	145	ОВС	DC	30	30	900	32	55	Draw of lots	15	4
138	WITHIN 4 KM FROM AGRASEN CHOWK SAKTI TOWARDS BARADWAR,ON SAKTI BARADWAR ROAD	SAKTI	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3

_		Γ		1				 		 -				
139	WITHIN 2KM OF KENDRIYA VIDYALAY AMBIKAPUR ON NH 43, WITHIN AMBIKAPUR MUNICIPAL LIMIT	SURGUJA	Regular	150	Open	DC	30	30	900	32	95	Draw of lots	15	5
140	BETWEEN BHARATMATA CHOWK SARANGARH AND SHRI RADHAKRISHNA MULTI SPECIALITY HOSPITAL SARANGARH,ON SARANGARH BALODABAZAR NH	SARANGARH BILAIGARH	Regular	150	ОВС	DC	30	30	900	32	95	Draw of lots	15	4
	WITHIN 1 KM FROM SAHEED VIRNARAYAN CHOWK BASNA TOWARDS JAGADISHPUR, ON BASNA JAGADISHPUR ROAD	MAHASAMUND	Regular	100	Open	DC	18	18	324	32	55	Draw of lots	15	5
	BETWEEN MAHANADI RIVER BRIDGE AND KESARIYA DHABA,LHS,WHILE MOVING FROM RAIPUR TO SARAIPALI, ON RAIPUR SARAIPALI NH	MAHASAMUND	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
143	WITHIN 1KM FROM PRIMARY SCHOOL LAMBAR ON SARAIPALI SARSIWA SH	MAHASAMUND	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
144	BETWEEN MILESTONE NO 28 AND MILESTONE NO 26 ON NH 930 ON EITHER SIDE	BALOD	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
	BETWEEN NETAJI CHOWK JANJGIR AND SATSANG BHAWAN MANDIR, ON NAILA RAILWAY STATION ROAD	JANJGIR CHAMPA	Regular	120	Open	DC	18	18	324	32	55	Draw of lots	15	5
146	WITHIN 2KM OF VILLAGE BARYON,ON AMBIKAPUR RAMANUJGANJ NH	BALRAMPUR- RAMANUJGANJ	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
	BETWEEN KM STONE 130 AND KM STONE 128 ON RAIPUR SARAIPALI NH,LHS,WHILE MOVING FROM RAIPUR TO SARAIPALI	MAHASAMUND	Regular	150	ST	CFS	35	45	1575	0	0	Draw of lots	0	3
148	WITHIN 2 KM OF GURU GOVIND SINGH CHOWK TOWARD GEEDAM ROAD	BASTAR	Regular	100	ОВС	DC	20	20	400	32	55	Draw of lots	15	4
149	WITHIN 1KM OF KARYALAYA GRAM PANCHAYAT MAADI SARAI, TEHSIL BHARATPUR	MANENDRAGARH CHIRMIRI BHARATPUR	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
150	WITHIN KANKER MUNICIPAL LIMITS ON MAIN ROADS	KANKER	Regular	100	Open CC 1	сс	30	30	900	32	12	BIDDING	30	5
151	BETWEEN GURUDWARA (NEHRU NAGAR) AND DABRAPARA CHOWK ON NH53, ON LHS TOWARDS RAIPUR		Regular	150	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
152	WITHIN 1KM OF VILLAGE KOCHLI ON PRATAPPUR BALRAMPUR ROAD	BALRAMPUR- RAMANUJGANJ	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
	BETWEEN LARANG SAI CHOWK AND KENA BANDH CHOWK, ON RING ROAD, WITHIN AMBIKAPUR MUNICIPAL LIMIT	SURGUJA	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
154	WITHIN DURG MUNICIPAL CORPORATION (ON MAIN ROAD)	DURG	Regular	150	Open	DC	20	20	400	32	75	Draw of lots	15	5
155	WITHIN 1 KM OF ANUPAMA CHOWK WITHIN MUNICIPAL LIMIT JAGDALPUR CITY	BASTAR	Regular	100	ОВС	сс	20	20	400	32	12	BIDDING	30	4
156	WITHIN 2KM FROM KABIRDHAM DISTRICT COLLECTOR OFFICE WHILE MOVING TOWARDS CHIMRA ON KABIRDHAM CHIMRA ROAD WITHIN MUNICIPAL LIMIT KABIRDHAM	KABIRDHAM	Regular	115	ST	CFS	30	30	900	0	0	Draw of lots	0	3
157	BETWEEN KM STONE 292 AND 299 ON NH30	BASTAR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
158	BETWEEN POWER HOUSE CHOWK AND SAMUND CHOWK WITHIN JAGDALPUR MUNICIPALITY.	BASTAR	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
159	BETWEEN DABRAPARA CHOWK TO TRANSPORT NAGAR CHOWK, BHILAI WITHIN MUNICIPAL LIMIT	DURG	Regular	150	ОВС	DC	20	20	400	32	75	Draw of lots	15	4
160	ON NEW DHAMTARI BYEPASS ROAD	DHAMTARI	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
161	BETWEEN MILESTONE NO.4 AND MILESTONE NO.9 TOWARDS DHANELI ON LHS ON NH 130B	RAIPUR	Regular	150	ST CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
162	BEYOND 1 KM OF NHAI TOLL PLAZA (DURG BY PASS) TO GURUDWARA (NEHRU NAGAR) ON NH 53 ON LHS WHILE MOVING TOWARDS RAIPUR	DURG	Regular	150	Open CC 2	СС	35	35	1225	32	12	Bidding	30	5
163	WITHIN 3 KM FROM THE JUNCTION OF SH23 AND GANGREL DAM ROAD ON SH23	DHAMTARI	Regular	100	OBC CC 1	DC	30	30	900	32	75	Draw of lots	15	4
164	WITHIN 2 KM FROM NEW COLLECTORATE, (ON NH 30) , BEMETARA WITHIN MUNICIPAL LIMIT	BEMETARA	Regular	120	Open	сс	30	30	900	32	12	BIDDING	30	5
165	SAMBALPUR	MAHASAMUND	Regular	150	sc	CFS	35	45	1575	0	0	Draw of lots	0	3
166	WITHIN NAGAR PANCHAYAT NAWAGARH LIMITS (ON MAIN ROAD)	BEMETARA	Regular	150	ОВС	DC	20	20	400	32	55	Draw of lots	15	4
167	BETWEEN KM STONE 22 AND 24 ON SH 6, BASIN SANKRA ROAD	DHAMTARI	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
168	BETWEEN KM STONE 33 AND 36 ON NH 30 RHS	DHAMTARI	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
	WITHIN 1KM EITHER SIDE FROM NEW BUS STAND KABIRDHAM ON RAJNANDGAON KABIRDHAM BYPASS ROAD	KABIRDHAM	Regular	130	ОВС	DC	25	25	625	32	55	Draw of lots	15	4
	ON BOTH THE SIDES ON NH 63	BIJAPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	О	3
	AMDI	DHAMTARI	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
172	WITHIN 5 KM FROM BHANUPRATAPPUR CHOWK TOWARDS KEWATI ON SH5	KANKER	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
	ON NH30	RAIPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
174	WITHIN 3 KM FROM JUNCTION OF NH63 AND NH163A AT GEEDAM ON NH163A.	DANTEWADA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
		İ	Ī	I	1	I		1	1 1	1 1	1 /	1	1	ı l
175	WITHIN VILLAGE DABNAI ON NH 130C WHILE GOING TOWARDS DHARMAGARH FROM DEOBHOG	GARIABAND	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5

176	WITHIN 5 KM FROM OLD RASNI TOLL PLAZA ON LHS TOWARDS ARANG AT NH-53	RAIPUR	Regular	150	Open CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
177	BETWEEN KM STONE NO 9 TO KM STONE 15 ON EITHER SIDE OF NH 30	RAIPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
178	WITHIN 5 KM FROM KEWATI CHOWK TOWARDS ANATAGARH ON SH5	KANKER	Regular	100	SC	CFS	30	30	900	0	0	Draw of lots	0	3
179	WITHIN VILLAGE GAURISHANKAR, POST MARODA	KANKER	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
	ON SH 25 WHILE GOING TOWARDS BANDE BETWEEN KMSTONE 03 AND 06 ANATGARH-	KANKEK	Negulai	100	Ореп		30	30	300	32	/3	Draw or lots	13	
180	NARAYANPUR ROAD ON SH5+F187	KANKER	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
181	MAIN ROAD)	DURG	Regular	100	ОВС	DC	20	20	400	32	55	Draw of lots	15	4
182	BETWEEN VILLAGE ATURGAON AND VILLAGE NANDMARA ON NEW KANKER BYEPASS	KANKER	Regular	150	Open	СС	35	35	1225	32	12	Bidding	30	5
183	WITHIN 2 KM FROM BIREJHAR THANA ON NH30 ON EITHER SIDES	DHAMTARI	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
184	BETWEEN KM STONE 195 AND 197 ON NH30 WITHIN NAGAR NIGAM BHILAI-CHARODA (ON	KONDAGAON	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
185	MAIN ROAD)	DURG	Regular	150	ОВС	DC	20	20	400	32	55	Draw of lots	15	4
186	WITHIN 2 KM FORM GANDHI CHOWK, ON NARAYANPUR ROAD ON RHS, WITHIN MUNICIPAL COUNCIL OF KONDAGAON	KONDAGAON	Regular	100	Open	СС	30	30	900	32	12	BIDDING	30	5
187		GAURELA PENDRA MARWAHI	Regular	100	ST PH	CFS	30	30	900	0	0	Draw of lots	0	3
188	WITHIN 2 KM FROM PG COLLEGE GATE JAGDALPUR ON CHITRAKOTE ROAD WITHIN MUNICIPAL LIMIT.	BASTAR	Regular	100	ОВС РН	DC	20	20	400	32	55	Draw of lots	15	4
1189	BETWEEN KM STONE 207 TO 209 ON NH 30, TEHSIL PHARSGAON, KONDAGAON	KONDAGAON	Regular	150	Open	СС	35	35	1225	32	12	Bidding	30	5
190	BETWEEN VILLAGE ADBHAR TO BPCL JYOTIRAI PETROL PUMP ON SH	GAURELA PENDRA MARWAHI	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
	BETWEEN BHANPURI CHOWK AND TATIBANDH CHOWK LHS TOWARDS TATIBANDH ON RING ROAD		Regular	150	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
192	NO.2 WITHIN 4 KM OF AMBEDKAR CHOWK PAKHANJUR ON SH	KANKER	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
193	BETWEEN CSER SUBSTATION, BHILAI-3 AND	DURG	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
	FROM MILESTONE SAMBALPUR 326 KM TO BEFORE													
194	1 KM OF NHAI TOLL PLAZA (DURG BY PASS), ON NH	DURG	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
195	WITHIN 2KM OF WHITE SAND GUEST HOUSE ON ROAD NO.12 ,SECTOR 28,NAYA RAIPUR	RAIPUR	Regular	150	ОВС	DC	20	20	400	32	75	Draw of lots	15	4
196	WITHIN 6 KM FROM TATIBANDH CHOWK ON LHS TOWARDS DURG ON NH53	RAIPUR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
197	WITHIN BHILAI MUNICIPAL CORPORATION (ON MAIN ROAD)	DURG	Regular	150	Open	DC	20	20	400	32	75	Draw of lots	15	5
1100	WITHIN THE MUNICIPAL COUNCIL OF NARAYANPUR ON GAURAVPATH ROAD	NARAYANPUR	Regular	100	Open	DC	20	20	400	32	55	Draw of lots	15	5
199	WITHIN 4 KM ON EITHER SIDES OF VILLAGE CHINDGARH ON NH30	SUKMA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
200	WITHIN 3KM FROM TELIBANDHA CHOWK ON NH53	RAIPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
201	WITHIN 5 KM TOWARDS JAGDALPUR FROM JUNCTION ROAD OF NH30 AND HALBA ON NH30	KANKER	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
202	WITHIN 5 KM FROM DPS SCHOOL TOWARDS	DAIDUD	Dogulos	150	Onen CC 1		25	25	1225	22	12	Didding	20	_
202	BALODA BAJAR ON 130B WITHIN 5 KM FROM PNB BANK SILTARA LHS		Regular	150		СС	35	35	1225	32			30	5
	TOWARDS BILASPUR ON NH30 WITHIN 3 KM FROM ST XAVIER HIGH SCHOOL IN		Regular	150	OBC	DC	35	35	1225	32	95		15	4
204	AVANTI VIHAR WITHIN 5KM ON THE EITHER SIDE OF DHAUDAI	RAIPUR	Regular	150	Open	DC	20	20		32	75		15	5
205	HIGH SCHOOL ON SH5.	NARAYANPUR	Regular	100	ST	CFS	30	30	900	0	0	Draw of lots	0	3
206	WITHIN 1 KM FROM GOKULDHAM RESIDENCY ON MAHADEV GHAT BHATAGAON ROAD	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
207	BETWEEN KAMAL VIHAR CHOWK GATE AND KRISHNA PUBLIC SCHOOL ON KAMAL VIHAR ROAD	RAIPUR	Regular	150	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
208	BETWEEN RAIPURA CHOWK AND BHATAGAON CHOWK ON EITHER SIDE OF NH53	RAIPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
209	WITHIN 1 KM FROM BHATAGAON BUS STAND ON JAL GRIH MARG	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
1210	WITHIN 2 KM FROM NH 53 JUNCTION ON LAKHOLI SUNCITY ROAD WITHIN MUNICIPAL LIMIT	RAJNANDGAON	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw of lots	0	3
211	WITHIN 5 KMS FROM MONFORT SCHOOL ON LHS TOWARDS ABHANPUR ON NH30	RAIPUR	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of lots	15	4
212	BETWEEN KM STONE NO 21 TO KM STONE 23 ON NH30 RHS TOWARDS ABHANPUR	RAIPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lots	15	5
213	WITHIN 1 KMS ON RHS FROM NH 53 INTERSECTION IN URLA, WHILE MOVING FROM URLA TO KUMHARI (WITHIN BHILAI CHARODA MUNICIPAL LIMIT)	DURG	Regular	120	Open PH	DC	20	20	400	32	55	Draw of lots	15	5
214	WITHIN 4KMS ON BOTH SIDE OF CHHATTISGARH RAJYA GRAMIN BANK MADDED ON NH 63	NARAYANPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
215	WITHIN 3 KM FROM TATIBANDH CHOWK TOWARDS SILTARA ON EITHER SIDE OF NH30	RAIPUR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
1216	RETWEEN KACHAHARI CHOWK AND PANDRI OLD	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
	DOUGIAND	1						<u> </u>	<u> </u>			<u> </u>		

		1			1		1					T		
217	FROM PANDRI BUS STAND TO JABBAR NALA TOWARDS VIDHANSABHA	RAIPUR	Regular	150	ОВС	DC	20	20	400	32	75	Draw of Lots	15	4
218	WITHIN 5 KM FROM CHHATTISGARH WAREHOUSING CORPORATION MUNGELI TOWARDS NAWAGARH ON SH	MUNGELI	Regular	100	SC	CFS	30	30	900	0	0	Draw of lots	0	3
219	WITHIN 1 KM FROM AGRASEN CHOWK ON SAMTA COLONY MAIN ROAD	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
220	WITHIN 1 KM FROM HOTEL SHERA AND	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
221	RESTAURANT ON METAL PARK ROAD BETWEEN BHARENGABHATA CHOWK TO NIT HOUSING COMPLEX ON SH22 ABHANPUR PATAN ROAD	RAIPUR	Regular	100	Open	DC	30	30	900	32	75	Draw of lots	15	5
222	WITHIN 3 KM FROM BANJARI MATA MANDIR, RAWABHATA TOWARDS SILTARA ON EITHER SIDE OF NH30	RAIPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
223	WITHIN 3 KMS FROM ABHANPUR JUNCTION TOWARDS DHAMTARI ON NH-30	RAIPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
224	FROM KAMAL VIHAR CHOWK TO AHILYAMATA CHOWK ON BORIA KHURUD KANDUL ROAD	RAIPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of Lots	15	5
225	WITHIN 4 KM FROM DHANELI CHOWK ON EITHER SIDE OF NH30	RAIPUR	Regular	150	Open CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
226	WITHIN 1 KM FROM CHAMPARAN CHOWK ON SH20	RAIPUR	Regular	100	ОВС	DC	30	30	900	32	75	Draw of lots	15	4
227	WITHIN 8 KM FROM MATA SARWAMANGLA TEMPLE KORBA TOWARDS TARDA ON ROAD CONNECTING MATA SARWAMANGLA TEMPLE AND TARDA	KORBA	Rural	100	Open	DC	30	30	900	16	35	Draw of lots	5	4
228	WITHIN 1 KM FROM VILLAGE PADIGAON TOWARDS SARIA, ON SARIA PUSSORE ROAD	RAIGARH	Rural	100	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
229	WITHIN 2 KM OF VILLAGE DHODREPAL ON ASNA BAKAWAND ROAD	BASTAR	Rural	50	ST	CFS	30	30	900	0	0	Draw of lots	0	2
230	WITHIN 3KM FROM KOTA RAILWAY STATION TOWARDS RATANPUR ON KOTA RATANPUR ROAD	BILASPUR	Rural	100	Open	DC	30	30	900	16	35	Draw of lots	5	4
231	WITHIN 2KM FROM VILLAGE DHABADIH ,TEHSIL BALODABAZAR ON RAIPUR-BELHA ROAD TOWARDS LATUWA	BALODABAZAR- BHATAPARA	Rural	100	Open	DC	30	30	900	16	35	Draw of lots	5	4
232	WITHIN 1 KM FROM VILLAGE KHARRA TOWARDS AAMAPALI, ON ROAD CONNECTING CHHAL TO AAMAPALI	RAIGARH	Rural	130	OBC	DC	30	30	900	16	35	Draw of lots	5	3
233	WITHIN 5KM FROM HUKRADEEPA CHOWK TOWARDS HAMIRPUR ON TAMNAR HAMIRPUR ROAD	RAIGARH	Rural	150	ST	CFS	30	30	900	0	0	Draw of lots	0	2
234	WITHIN 2 KM FROM INTERSECTION OF RISHDA RD AND BALODABAZAR BYPASS ROAD ON BALODA BAZAR BYPASS ROAD	BALODABAZAR- BHATAPARA	Rural	100	Open	DC	30	30	900	16	35	Draw of lots	5	4
235	WITHIN 3 KM FROM ITI HATHBAND TEHSIL SIMGA TOWARD POUSARI ON VILLAGE ROAD	BALODABAZAR- BHATAPARA	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
236	WITHIN 1KM FROM SHREE CEMENT MAIN GATE ON VILLAGE CHANDI , TEHSIL SIMGA TOWARDS SUHELA ON SEMRADIH SUHELA ROAD	IBALODABAZAR-	Rural	100	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
237	WITHIN 500M OF BACHHERA CHOWK ON BYPASS TOWARDS NH130A	MUNGELI	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
238	WITHIN 1 KM FROM JPL GATE NO.3 TOWARDS HUKRADEEPA CHOWK, ON TAMNAR MILUPARA ROAD	RAIGARH	Rural	150	sc	CFS	30	30	900	0	0	Draw of lots	0	2
239	WITHIN 1KM OF APOLLO PIPELINES LIMITED MAIN GATE , TEHSIL SIMGA TOWARDS SIMGA ON HATHBAND-SIMGA ROAD	BALODABAZAR- BHATAPARA	Rural	100	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
240	WITHIN 5 KM FROM SBI MAGARLOAD TOWARDS KURUD ON KURUD-MAGARLOAD ROAD.	DHAMTARI	Rural	50	Open CC 1	DC	30	30	900	16	35	Draw of lots	5	4
241	WITHIN 1KM FROM VILLAGE SARAI SINGAR ON PRAVESH BALODA MARG	KORBA	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
242	WITHIN 3 KM OF HEALTH CENTER DEWARHAT ,TESHIL LORMI TOWARDS KUMHRAULI ON LALPUR TO KUMHRAULI ROAD	MUNGELI	Rural	50	ST	CFS	30	30	900	0	0	Draw of lots	0	2
243	WITHIN 500 MTR FROM JATARI CHOWK, ON SUPA KURRUBHATA ROAD	RAIGARH	Rural	130	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
244	WITHIN 2 KM FROM VILLAGE JORHADABRI ON ANY MAJOR ROAD	KORBA	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
245	IN BETWEEN MEERA RESORT AT KUDURMAL TO URGA CHOWK , URGA	KORBA	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
246	WITHIN 1 KM OF VILLAGE GIDHPURI, TEHSIL PALLARI ON ANY MAJOR ROAD	BALODABAZAR- BHATAPARA	Rural	70	sc	CFS	30	30	900	0	0	Draw of lots	0	2
247	WITHIN 1 KM FROM DADAI CHOWK TOWARDS JUNWANI, ON ANY MOTORABLE ROAD		Rural	100	OBC	DC	30	30	900	16	35	Draw of lots	5	3
248	WITHIN 2KM FROM INTERSECTION OF SH5 AND DONDI NARATOLA ROAD WHILE MOVING TOWARDS NARATOLA ON DONDI NARATOLA ROAD	BALODABAZAR- BHATAPARA	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
249	WITHIN 2KM OF INTERSECTION OF NH 30 AND RAVELI KUNDA ROAD WHILE MOVING TOWARDS RAVELI ON RAVELI KUNDA ROAD	KABIRDHAM	Rural	70	Open CC 2	DC	30	30	900	16	35	Draw of lots	5	4
250	WITHIN 2 KM FROM VILLAGE PAUSARI ,TESHIL BHATAPARA ON ANY MAJOR ROAD	BALODABAZAR- BHATAPARA	Rural	120	OBC CC 1	DC	30	30	900	16	35	Draw of lots	5	3
251	WITHIN 2KM FROM VILLAGE NOUGAI TOWARDS MOPKA ON MOPKA SENDRI ROAD	BILASPUR	Rural	50	ST CC 1	CFS	30	30	900	0	0	Draw of lots	0	2
252	WITHIN 2 KM FROM AMARPUR VILLAGE ,TEHSIL PENDRA TOWARDS BASANTPUR ON ANY MAJOR ROAD	GAURELA PENDRA MARWAHI	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
253	WITHIN 1KM OF PRIMARY HEALTH CENTER GANESHPUR, TEHSIL RAMANUJNAGAR	SURAJPUR	Rural	60	Open	DC	30	30	900	16	35	Draw of lots	5	4
254	BETWEEN ASHU GYAN JYOTI SCHOOL GAURRA AND TEKA CHOWK, ON SUPA KURRUBHATA ROAD	RAIGARH	Rural	100	OBC	DC	30	30	900	16	35	Draw of lots	5	3
									_	_	_			

		1					,					T		1
255	WITHIN 5 KM FROM PASAN POLICE STATION TOWARDS LAINGI ON ANY MAJOR ROAD	KORBA	Rural	80	ST	CFS	30	30	900	0	0	Draw of lots	0	2
256	WITHIN 1KM OF ATAL CHOWK PONDI, TEHSIL PODI- BACHRA	KOREA	Rural	60	Open	DC	30	30	900	16	35	Draw of lots	5	4
	WITHIN 2 KM FROM SHASKIYA PRATHMIK SHALA PAIJANIYA TOWARDS LORMI ON TAKHATPUR LORMI ROAD	MUNGELI	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
	WITHIN 3 KM FROM GOVT HIGH SCHOOL TENDUMUDA ,TEHSIL MARWAHI ON ANY MAJOR ROAD	GAURELA PENDRA MARWAHI	Rural	60	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
259	BETWEEN SHANIDEV MANDIR AWREED AND BHADESAR MOD, ON JANJGIR KERA ROAD	JANJGIR CHAMPA	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
260	WITHIN 2KM FROM GOVT MIDDLE SCHOOL PACHERA WHILE MOVING TOWARDS GHOTIYA ON DONDI-JHALMALA ROAD	BALOD	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
261	WITHIN 1KM OF GOVERNMENT PRIMARY SCHOOL KUNIYAKALA,ON DARIMA MAINPAT ROAD	SURGUJA	Rural	55	Open	DC	30	30	900	16	35	Draw of lots	5	4
	BETWEEN ATAL SAMRASTA BHAWAN AND MADIKA MATA HIGH SCHOOL BHOTHIYA, ON DARRABHATA TO JATAPARA BHOTHIYA ROAD	SAKTI	Rural	70	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
263	WITHIN 3 KM FROM JAMGAON VILLAGE CHOWK, TOWARDS NARHARPUR ON NARHARPUR DUDHAWA ROAD	KANKER	Rural	50	Open CC 1	DC	30	30	900	16	35	Draw of lots	5	4
264	WITHIN 2 KM OF VILLAGE GARENGA ON GARENGA KOMAR ROAD	BASTAR	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
	WITHIN 1 KM FROM BHATAPARA CHOWK NAWAPARA TOWARDS TUREKELA, ON ANY MOTORABLE ROAD	RAIGARH	Rural	70	OBC	DC	30	30	900	16	35	Draw of lots	5	3
266	BETWEEN VILLAGE NARTORA AND GODPALI MOD, ON BAGBAHRA JHALAP ROAD	MAHASAMUND	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
267	WITHIN 1KM OF GRAM PANCHAYAT BHAVAN BADGAON, ON BAIKUNTHPUR PODI ROAD	KOREA	Rural	60	Open	DC	30	30	900	16	35	Draw of lots	5	4
268	WITHIN 1 KM FROM MVPG COLLEGE MACHEWA TOWARDS RAJIM, ON MAHASAMUND RAJIM ROAD	MAHASAMUND	Rural	70	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
269	VILLAGE KORGUDA, TEHSIL DONDI LOHARA ON BALOD DONDI LOHARA ROAD	BALOD	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
270	BETWEEN BAJRANG AGRO INDUSTRIES CHHINDOLI AND RAITHUM CHOWK,ON ROAD CONNECTING TURIDIH TO RAITHUM	MAHASAMUND	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
271	WITHIN 1 KM ON EITHER SIDE OF VILLAGE PURI RAILWAY CROSSING, TEHSIL-DHAMTARI	DHAMTARI	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
272	VILLAGE DHARAMPURA ON DHARAMPURA ROAD	RAIPUR	Rural	80	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
273	WITHIN 2 KM FROM IDBI BANK MUNDAGAON ON BHANPURI-LOHANDIGUDA ROAD	BASTAR	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
274	WITHIN 2 KM FROM THE JUNCTION OF OLD DHAMTARI-RAIPUR ROAD AND NH30 TOWARDS BHAKARA ON OLD DHAMTARI ROAD.	DHAMTARI	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
275		BASTAR	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
276	WITHIN 2KM FROM INTERSECTION OF SH5 AND JEWARTALA DONGARGAON ROAD WHILE MOVING TOWARDS DONGARGAON ON JEWARTALA DONGARGAON ROAD	BALODABAZAR- BHATAPARA	Rural	70	ОВС РН	DC	30	30	900	16	35	Draw of lots	5	3
	WITHIN 3 KM OF VILLAGE RANIGAON ON ALL THE THREE MAIN ROADS TOWARDS SH6 AND SIHAWA AND UMERGAON	DHAMTARI	Rural	50	ST PH	CFS	30	30	900	0	0	Draw of lots	0	2
278	VILLAGE ACHANAKPUR ,TEHSIL PATAN (ON SELUD- DEOBALODA ROAD)	DURG	Rural	80	Open	DC	30	30	900	16	35	Draw of lots	5	4
1279	WITHIN 3 KM FROM WALLFORT VIHAR MAIN GATE,AMLESHWAR, ON PATAN-RAIPUR ROAD	DURG	Rural	80	Open	DC	30	30	900	16	35	Draw of lots	5	4
280	VILLAGE BELOUDI,TEHSIL DURG (ON CHIKHLI - NAGPURA ROAD)	DURG	Rural	80	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
	BETWEEN KM 07 TO KM 09 WHILE GOING TOWARDS KAMELA VILLAGE FROM KONDAGAON ON MAINROAD	KONDAGAON	Rural	50	Open	DC	30	30	900	16	35	Draw of lots	5	4
282	WITHIN 1 KM OF VILLAGE KARRAMAD ON PAKHANJOR BHANUPRATAPPUR ROAD	KANKER	Rural	50	sc	CFS	30	30	900	0	0	Draw of lots	0	2
	BETWEEN POST OFFICE TO POLICE STATION BADEDONGAR ON RHS WHILE GOING TOWARDS BADEDONGAR FROM PHARASGAON	KONDAGAON	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
$\overline{}$	•	RAIPUR	Rural	80	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
285	BETWEEN MAKDI CHOWK TO HIRAPUR VILLAGE ON MAIN ROAD TEHSIL MAKDI	KONDAGAON	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
286	WITHIN 3 KM FROM SINGHWAHINI BARGAHEEN MATA TEMPLE, TOWARDS JAGDALPUR ON JAGDALPUR CHITRAKOT ROAD	BASTAR	Rural	50	ST	CFS	30	30	900	0	0	Draw of lots	0	2
	BETWEEN LITIYA CHOWK AND GOVT. SCHOOL, BORI ON KHAIRAGARH-NANKATHI ROAD, TEHSIL- DHAMDHA	DURG	Rural	80	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
288	WITHIN 2 KM FROM SHRI BAJRANG POWER AND ISPAT LIMITED ON TILDA ROAD	RAIPUR	Rural	80	Open	DC	30	30	900	16	35	Draw of lots	5	4
289	WITHIN 2 KM FROM VILLAGE NAWAGAON DAYALI, TESHIL LORMI ON ANY MAJOR ROAD	MUNGELI	Rural	50	Open CC 1	DC	30	30	900	16	35	Draw of lots	5	4
290	BETWEEN KM STONE 17 TO 19 WHILE GOING TOWARDS BHANPURI FROM CHOKNAR VILLAGE ON MAIN ROAD TEHSIL:BAKAWAND	BASTAR	Rural	50	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
1291	BETWEEN MAKDI VILLAGE TO UDIDGAON VILLAGE ON MAIN ROAD TEHSIL:MAKDI	KONDAGAON	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2
292	BETWEEN SHRI SIDHESWAR HANUMAN MANDIR AND BANSAL AGRO TEA AND MANUFACTURING PVT. LTD ON DALDAL SEONI ROAD.	RAIPUR	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
ш			L	L	<u> </u>		I	<u> </u>				L		<u> </u>

	WITHIN 1 KM FROM KALPTARU POWER								1	<u> </u>	l			
293	TRANSMISSION LTD VILLAGE KHORPA ON OLD DHAMTARI ROAD	RAIPUR	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
294	WITHIN 1 KM OF VILLAGE RAGHUNATHNAGAR ON WADRAFNAGAR- BALANGI ROAD	BALRAMPUR- RAMANUJGANJ	Rural	70	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
295	WITHIN 2 KMS FROM THE JUNCTION OF FINGESHWAR CHURRA ROAD AND ROAD TOWARDS KARCHALI AND NAWAPADA, ON FINGESHWARCHURRA ROAD	GARIABAND	Rural	50	SC	CFS	30	30	900	0	0	Draw of lots	0	2
296	VILLAGE BHARWADIH KALA ON MOHERENGA HIRMI ROAD	RAIPUR	Rural	80	Open	DC	30	30	900	16	35	Draw of lots	5	4
297	VILLAGE BARAUDA ON AIRPORT ROAD	RAIPUR	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
298	WITHIN 2KM FROM BHOTALI KUMARTOLA CHOWK WHILE MOVING TOWARDS DONGARGARH FROM CHICHOLA ON CHICHOLA DONGARGARH ROAD	RAJNANDGAON	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
299	WITHIN 1 KM FROM VILLAGE SHANKARPUR, TEHSIL- PITHORA, ON ANY MOTORABLE ROAD	MAHASAMUND	Rural	70	OBC CC 1	DC	30	30	900	16	35	Draw of lots	5	3
300	WITHIN 1 KM FROM SHREE RADHA MADHAV ASHRAM BARDIH TOWARDS TOSHGAON, ON SINGHANPUR TOSHGAON ROAD	MAHASAMUND	Rural	70	SC CC 1	CFS	30	30	900	0	0	Draw of lots	0	2
301	WITHIN 2 KM FROM GOVT. SCHOOL PIRDA TOWARDS BILAIGARH, ON ANY MOTORABLE ROAD	MAHASAMUND	Rural	70	Open PH	DC	30	30	900	16	35	Draw of lots	5	4
302	BETWEEN SAMODA ARANG KHARORA T POINT AND SAMODA BAZAR MARKET ON SAMODA ROAD	RAIPUR	Rural	80	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
303	WITHIN 1.5KM FROM GOVT HIGHER SECONDARY SCHOOL VILLAGE SALHEKALA TEHSIL CHUIKADHAN WHILE MOVING TOWARDS PARPODI ON JORATARAI PARPODI ROAD	RAJNANDGAON	Rural	85	Open	DC	30	30	900	16	35	Draw of lots	5	4
304	WITHIN 3 KM ON EITHER SIDE OF GADHIYA HIGH SCHOOL ON LOHANDIGUDA-KODENAR ROAD	BASTAR	Rural	50	ST	CFS	30	30	900	0	0	Draw of lots	0	2
305	VILLAGE RENGAKHAR ON SALHEWARA RENGAKHAR CHILPI ROAD	KABIRDHAM	Rural	70	Open	DC	30	30	900	16	35	Draw of lots	5	4
306		RAJNANDGAON	Rural	80	ОВС	DC	30	30	900	16	35	Draw of lots	5	3
307	WITHIN 1 KM OF VILLAGE RAINPUR,TEHSIL HARDIBAZAR ON KORBA BILASPUR ROAD	KORBA	Rural	150	Open	DC	30	30	900	16	35	Draw of lots	5	4
308	WITHIN 1 KM FROM MIRONI CHOWK TOWARDS MADHWA, ON ROAD CONNECTING MIRONI CHOWK TO MADHWA	SAKTI	Rural	135	Open	DC	30	30	900	16	35	Draw of lots	5	4
309	BETWEEN AYUSH HEALTH AND WELLNESS CENTRE HAMIRPUR AND PALIGHAT CHOWK, ON RAIGARH SUNDERGARH ROAD	RAIGARH	Rural	70	ST	CFS	30	30	900	0	0	Draw of lots	0	2

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website **www.hindustanpetroleum.com** / **www.petrolpumpdealerchayan.in** and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of NO	Type of Site	Category	Application fee in Rs
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular Ros	CC	Open	10000	Rural Ros	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 10 years and renewable every 10 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Address / Contact Nos	For districts
HINDUSTAN PETROLEUM CORPORATION LIMITED, 1ST FLOOR, BAJPAI	BALRAMPUR-RAMANUJGANJ, JASHPUR, KOREA, SURAJPUR, SURGUJA,
PAVILION, VYAPAR VIHAR ROAD, BILASPUR , CHHATTISGARH.	MANENDRAGARH – CHIRMIRI – BHARATPUR,BALODABAZAR-
PINCODE-495001	BHATAPARA , BILASPUR, MUNGELI, GAURELA-PENDRA-MARWAHI,
Contact Nos:07752491743	JANJGIR CHAMPA ,KORBA, SAKTI, MAHASAMUND, RAIGARH,
89751-65959	SARANGARH-BILAIGARH
Hindustan Petroleum Corporation Limited Raipur Retail Regional Office, LIC Investment Building, Phase -2, 4th Floor Near EPF Office, Pandri, Raipur (Chhattisgarh) – Pincode-492004 Contact Nos :0771-2225451 / 8240090768	BALOD, BASTAR, BEMETARA, BIJAPUR, DANTEWADA, DHAMTARI , DURG, GARIABAND, KABIRDHAM, KANKER, KONDAGAON , KHAIRAGARH-CHHUIKHADAN-GANDAI, MOHLA-MANPUR- AMBAGARH CHOWKI, NARAYANPUR, RAIPUR, RAJNANDGAON, SUKMA